
0 0.02 0.04 0.06 0.08 0.1 0.12

)c* (GeV/k

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5
*)

k(
C

pairspp⊕pp 

Syst. uncertainties

Femtoscopic fit

= 7 TeVsALICE pp 

fm-0.035
+0.058

0.018 ±= 1.125 
0

r

(a)

0 0.05 0.1 0.15 0.2

)c* (GeV/k

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6*)
k(

C

pairsΛp⊕Λp

Syst. uncertainties

Femtoscopic fit (NLO)

Femtoscopic fit (LO)

= 7 TeVsALICE pp 

fm-0.035
+0.058

0.018 ±= 1.125 
0

r

(b)

0 0.05 0.1 0.15 0.2

)c* (GeV/k

0.5

1

1.5

2

2.5

3

3.5*)
k(

C

pairsΛΛ⊕ΛΛ

Syst. uncertainties

Femtoscopic fit

Femtoscopic fit (STAR)

(c) = 7 TeVsALICE pp 

fm-0.035
+0.058

0.018 ±= 1.125 
0

r


